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FST-01 : FOUNDATION COURSE IN SCIENCE 
AND TECHNOLOGY 

Time : 3 hours 	 Maximum Marks : 100 

Note : All questions of Section A are compulsory. In 
Section B and C, give answers as per instructions 
given. 

SECTION A 

1. Fill in the blanks : 	 5 

(a) A group of stars arranged in a pattern 
defining a region in the sky is 	 

(b) The most suitable tree for the reclamation of 
alkaline soil is 

(c) Planet 	 has a high surface 
temperature due to green house effect. 

(d) Expression for the measurement of IQ of a 
person is 	 

(e) INSAT-1B 

	

	orbits the Earth every 
hours. 
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2. State whether the following statements are 
True (T) or False (F) : 	 5 

(a) In nuclear fusion the mass of resulting 
nucleus is the same as the sum of masses of 
fusing nuclei. 

(b) The leakage of chlorofluorocarbon led to 
Bhopal tragedy. 

(c) Deficiency of vitamin D results in rickets in 
children. 

(d) The motor areas of the brain in humans 
control the voluntary muscle activity. 

(e) Indians knew how to make steel in the Iron 
Age. 

3. Give short answers for the following questions 
(in not more than 50 words) : 	 5x2=10 

(a) Write two factors that led to the decline of 
Bronze Age Civilisation. 

(b) Write a brief note about Neptune. 

(c) Briefly discuss the ecological crises of the 
atmosphere. 

(d) List four causes of malnutrition in our 
country. 

(e) What is adolescence ? Write briefly the 
changes that occur during adolescence. 
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SECTION B 

Answer any eight questions. Limit your answer to 
100 words for each question. 

4. Explain why the Ayurvedic system of Medicine 
may be considered scientific. Give reasons. 

5. List five astronomical methods being used to 
explore the universe. 

6. Distinguish between renewable and 
non-renewable resources giving any two 
examples of each type. 

7. Give one mode of spread of each of the following 
diseases : 
	

5 

Malaria, Jaundice, Plague, Tuberculosis and 
Cholera. 

8. Differentiate between quasar and pulsar. 	 5 

9. Discuss the applications of optical fibres. 	 5 

10. Why is India referred to as an agriculture based 
country ? Justify your answer by giving reasons. 

11. Suggest various measures to control soil erosion. 	5 

12. State the differences between palaeontology and 
archaeology. 

13. Explain Darwin's theory of Natural Selection. 
Why was it not acceptable to most people of that 
time ? 
	

5 
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SECTION C 

Answer any four questions. Limit your answer upto 
200 words for each question. 

14. "Socio-economic needs of growing cities and 
trade between the cities in Bronze Age give rise 
to many broad areas of quantitative science." 
Elaborate the statement. 	 10 

15. (a) Write a brief account on causes and effects of 
deforestation in India. Support your answer 
with appropriate real-life examples. 	 5 

(b) Discuss the role of hormones for proper 

functioning of the human body. 	 5 

16. Describe the life history of a star. 	 10 

17. (a) What is technology forecasting ? Why is it an 
important area of study today ? 

(b) How does modern information technology 
affect the lifestyle of individuals and 

society ? 	 5 

18. (a) Discuss the features of social organisation in 
the Gupta Empire that greatly improved 

science and technology. 

(b) Taking a pond as an ecosystem, write five of 
its biotic components and classify them as 
producers, consumers and decomposers. 

19. With the help of neat labelled diagram describe 
the 'feedback' mechanism which checks the loss 
of water from kidneys in the human body. What 
is it technically known as ? 

5 

5 

10 
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